I

‘uopjesijdde ayj 104 atempliey Buyunow Jadouid 10§ 9103s alempaey jeso| 1noAk }insuod
oseajd ‘papn|oul jJou s uoijejjejsul 1nok 10j pasau nok asempiey ayj jj * ¥20|q 19puld 0} JO SPNIS [293S Yum Buijiao
03} suopje|jejsul oy paubisap jou aie abeyoed siuj ui paijddns aiempiey pue syusuodwod Bugunow ayl :9}0N

19AIPM3IDG sdifjiUd m jig Aluosej wwigm g g uwugem paiinbay sjooj}

‘abewep Jo/pue ONINYVM
Kinfu; ajqissod ul Bupnsai ‘jjey Aew 31 pajjeisul Ajuadoud jou si junow
oy} ji 'Buljed ayj o) payoepne A|8in29s aq jsnw junow i10399loud siyy

‘jonpoud siy}
0 85N }981100U1 JO ‘Buljunow Joa.1100ul ‘A|quIasse 1081100ul wouy Buisue abewep Jo Ainful oy Aljigel| e pue Aue swie|osip
Agsley sp\ "uononiisui sy} ui payoeds Ajiolidxe jou uoneinbyuos Aue ui Jo asodind Aue 10} Jonpoid siy} 8sn jou oQg

*10JOBJJUOD UOJB[[B}SUI Paljijenb e }nsuoo ‘Bul|iad Jnok jo 8injeu 8y} Jnoge uleliaoun aie nok §j »
‘uole||RISUI Y] J0 A19JBS 8Y) JNOge S}gNop AU 8ARY IO SUOI}ORIIP 9SaY) puelsiapun J,uop nok jj ¢
:noA i djoy 10} J0JOBIIUOD UOIIB|[B}SUI paljljenb e |jed ases|d

-uoie|jeisul Bulnp juswdinba A}ajes Jadoud asn "ulelay paulBIUGD SUOHONJISUL |8
Mmoy|jo} AjInyaleo pue ‘uolje||elsul 8y} Buiuuibag a10jaq UOIIONIISUL SIU) PESI 9SED|d "91B0 UIIM 991ASP SIY) 8jeiado pue |jeisu|

NOILVINHOANI AL34dVS LNVLYOdINI
‘uonie|jeisul Buindwalie aiojaq suoljoniisul ||e peas Ajjnjaie) *
‘s)ied aAo9ep Jo pabewep asnjou og “pabewepun
paAl@oal a1em sjusuodwod e jey) ainsse o} abed jxau ay} ul IsI7 sued peliddng ayj jsuiebe sjuejuoo abexoed yo8yy *
abeWED PIOAR 0} 80BLINS 9A1}09}0.d JOY}0 10 pieogpied Uo }no Ae| pue Sjualuod 9AOW Sl ‘uoLeD 8y} uado Ajjnjeie) ¢

SNOILONYLSNI ONIMOVANN

uol}donJajsuj uoljejjeisuj

‘Buisn ayj Aofuad ‘s}onpoud ano Buisooyd 1o} syuey L

‘papiroad (3)ysusip
uelly Aq ueyby ‘sunjoid ey se (f)syog
peaH Jejnbuexay 9Lxg| seodeid z Aq (e)sle|d
10309(oid pue (9)i@s aqn] ay) Bunosuuon

aje|d 10j09foid 031195 agn] ay) Buijosuuon

2 e

papiaoad (3)yousipn

uajly Aq uajyby ‘ainjoid ayy se ([)sjjog peaH JejnbuexeH 9LX9N O
seoaid z Aq (a)eield Buied pue (o)19s aqny ayy Buposuuod

aje|d Buiie) 03388 aqny Buosuuo)




Supplied Parts List Install the Mounting Legs on the Projector

e, f,g,h

d 1. Locate the mounting points on the bottom of the projector.

2. Attach the appropriate number of Mounting Legs(d) to the
projector using the appropriate mounting Bolts(e,f,g,h).

3. Do not tighten these bolts completely at this time.

(1) Projector Plate-a (1) Ceiling Plate-b (1) Tube Set-c (4) Mounting Legs-d 4. The M3/M4 Washers(i) have to be used if you use the M3/M4
bolts.

iy gy

(4)M3x16 Bolt-e (4) M4x12 Bolt-f (4) M5x12 Bolt-g (4) M6x12 Bolt-h

1. Align the Projector Plate(a) to the mounting legs.

2. Position the legs accordingly for best configuration. You
may raise or lower each leg independently.

©) |

Z

3. Secure the legs to the projector plate by screwing
M6x16 Hexangular Head Bolt(j) (do not over-tighten) on the

mounting legs, using the Allen Wrench(k) provided.
(8) M6x16 Hexangular

(4) M3/M4 Washier-i Head Bolt-j () AllonWrench-k (3) Lag Bolt-| 4. Tighten all bolts at this time.
E Install the Ceiling Plate to the Ceiling
(3) Concrete Anchor-m Concrete Ceiling w
I ¢ m
m m\ Use the Ceiling Plate(b) as a template to mark 3 hole
locations on the ceiling. Pre-Drill these holes with a 8mm
masonry bit to at least 50mm in depth. Insert a Concrete
Selecting the Proper Mounting Hardware Anchor(m) into each of these holes. Make sure the anchor
1. Invert the projector and locate the mounting points. %4 is seated completely flush with the concrete surface even if
2. Test each size of the screws provided. - |—A40mm_J a layer of drywall or other material in front. Attach
v i : P i ) g plate to the ceiling using 3 pieces Lag Bolts(l)
3. The correct screws should thread easily into the mounting point and not pull out when pressure is applied. i 5 and 3 pieces Concrete Anchor(m).
v v T
< 8mm
DO NOT OVER-TIGHTEN YOUR MOUNTING SCREWS TO THE PROJECTOR CHASSIS.

USING THE INCORRECT SCREW DEPTH MAY CAUSE DAMAGE TO YOUR PROJECTOR.

Use a stud finder to locate the stud. It is a good idea to
verify where the stud is located with an awl or thin nail. Pre-
drill a 50mm deep hole at the stud using a 3.8mm drill bit.
Make sure the hole is in the center area of the stud. Use the

50mm Ceiling Plate(b) as a template to mark the location of the
You can tighten this nut if you want to make the big tilting for { ..-second hole in the stud, Drill. 50mm.deep hole using the
iector. But please don't over-tighen. otherwise you ma | 3.8mm drill in Em marked Joom:o:. Attach the ceiling
yourprojecior. P o g ’ y y plate to the ceiling using the 2 pieces Lag Bolts(l).
have problem to do the tilting. =




